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bytes
[..] [..][..]

[..][..][..][..]



characters
bachotek $$ \EuroTeX

\hbox to 1em{X}Lua\TeX!\dimen0=10pt



tokenscmd chr id name

letter 98 b

letter 97 a

letter 99 c

letter 104 h

letter 111 o

letter 116 t

letter 101 e

letter 107 k

cmd chr id name

math_shift 36

other_char 50 2

other_char 48 0

other_char 48 0

other_char 55 7

math_shift 36

cmd chr id name

undefined_cs 1125612 EuroTeX

cmd chr id name

make_box 122 1115680 hbox

letter 116 t

letter 111 o

spacer 32

other_char 49 1

letter 101 e

letter 109 m

left_brace 123

letter 88 X

right_brace 125

cmd chr id name

letter 76 L

letter 117 u

letter 97 a

call 1555044 1114740 TeX

other_char 33 !

cmd chr id name

register 1 1117302 dimen

other_char 48 0

other_char 61 =

other_char 49 1

other_char 48 0

letter 112 p

letter 116 t



meaning
Lua\TeX

cmd chr id name

letter 76 L

letter 117 u

letter 97 a

call 1555044 1114740 TeX

cmd chr id name

letter 76 L

letter 117 u

letter 97 a

letter 84 T

call 1741387 3234065 Mkern

left_brace 123

other_char 45 -

other_char 46 .

other_char 49 1

other_char 54 6

other_char 54 6

other_char 55 7

right_brace 125

vmove 0 3224069 lower

other_char 46 .

other_char 53 5

letter 101 e

letter 120 x

make_box 122 1115680 hbox

left_brace 123

letter 69 E

right_brace 125

call 1741387 3234065 Mkern

left_brace 123

other_char 45 -

other_char 46 .

other_char 49 1

other_char 50 2

other_char 53 5

right_brace 125

letter 88 X



nodes
Lua\TeX

t={

[1]={

[1]="glyph",

[2]=0,

[3]=false,

[4]=76,

[5]=38,

},

[2]={

[1]="glyph",

[2]=0,

[3]=false,

[4]=117,

[5]=38,

},

[3]={

[1]="glyph",

[2]=0,

[3]=false,

[4]=97,

[5]=38,

},

[4]={

[1]="glyph",

[2]=0,

[3]=false,

[4]=84,

[5]=38,

},

[5]={

[1]="kern",

[2]=1,

[3]=false,

[4]=-186817,

},

[6]={

[1]="hlist",

[2]=0,

[3]=false,

[4]=644088,

[5]=0,

[6]=805700,

[7]=235929,

[8]={

[1]={

[1]="glyph",

[2]=0,

[3]=false,

[4]=69,

[5]=38,

}

},

[9]=0,

[10]=0,

[11]=0,

[12]=0,

},

[7]={

[1]="kern",

[2]=1,

[3]=false,

[4]=-140083,

},

[8]={

[1]="glyph",

[2]=0,

[3]=false,

[4]=88,

[5]=38,

}

}



control
intercept file opener and
implement a reader that
manipulates the data

intercept TEX's input line
reader and manipulate
input at that stage

collect tokens from the
tokenizer, collect them and
return them

intercept node lists at
places where boxes are
built


